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QUESTION 1 [3 marks]

Determine whether the statement below is true or false. If it is false, find a counterexample.
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QUESTION 2 [1,1, 1 = 3 marks]

In the diagram below, AD and BE are diameters of the circle with centre O, C lies on the
circumference and 2COD = 28°.

Determine the sizes of the following angles, give reason for each of your answer.
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QUESTION 3 [4, 4, 2 = 10 marks]

(a) Ifaquadrilateralis a cyclic quadrilateral, prove that each pair of opposite angles sum to
180°.
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(b) ABCD is a cyclic quadrilateral. Bisector of Z/BEC intersects BC at F and AD at G.
Prove: ZAGF = ZBFG
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(QUESTION 3 continued)

Consider the statement:
“If the opposite angles of a quadrilateral are supplementary, then the quadrilateral is cyclic.”

(c) (i) Inrelation tothe theorem in (a), this statement is which of the following?
converse, negation, inverse or contrapositive
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QUESTION 4 [4 marks]

Find the values of the pronumerals for the following:
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QUESTION 5 [2,2,2,2,2 =10 marks]

If O is the centre of the circle, AB is a tangent, determine the value of the following pronumerals
and give reason for each step of your working out.
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6 34
QUESTION 6 B, £ = # marks]
AC and PQ are chords of the circle centre O.
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(b) Inaddition to a =, if P, 0 and C are collinear (three points lie on a straight line)
and Q, O and A are collinear, prove that PQ parallel to AC.
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Additional page for working out
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